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COMMERCE

(Honours Generic)
Answer the Questions from any one Option.

OPTION-A
( Macroeconomics)

Paper : COM—HG-2016

OPTION-B
( Insurance and Risk Management )

Paper : COM-HG-2026

- Full Marks : 80

Time : Three hours

The figures in the margin indicate
full marks for the questions. .

Answer either in English or in Assamese.
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Answer the following questions :

OPTION-A
( Macroeconomics )

Paper : COM-HG-2016 .

weTe R eMIERE Tes Wl g

(@)

(b)

(c)

(@)

(e)

What does the aggregate supply curve ;
describe ? (/,__.

ANET Q@A @23 B T e

State the condition of equ111br1um in \"

the money market.
Ul TG SIFTOR TE0! BrER 11 |
What is sticky price ?

fwoet wq e

What is the-natural rate of
unemployment ?

i eligfos 29 e

What is meant by sacrifice ratio ?

wjio-sreite T 7 e
What is open economy ?

I Wi 397 e
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1x10=10 °

(9)

What is meant by exchange rate
appreciation ?

i 299 =R e & qame
What do you mean by net exports ?
T Y e [ g

What do you mean by liquidity
preference ?

Iy A e [ et

Give the meaning of autonomous
investment.

e el o frar |
2. Answer the following questions: 2x5=10
(@" Mention any two features of a static

economy according to Prof. Clark.

| %mﬁﬁﬁzﬂéasm@«4%31%§<aﬂﬁﬁ%§7%ﬁwaw

(b)
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751 R frat

State the reasons for a downward'
slopping aggregate demand curve.,

ﬂﬁﬁ%ﬁﬁﬁﬁTGﬁﬁéﬁmﬁﬁﬁﬁﬁﬁcﬂﬂﬁﬁ$$Mw§
forat |
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Mention the arguments in favour of
fixed exchange rate system.

s R 29 g FeE < TR T
Sall

Write brief notes on the different types
of investment.

ffFcase [fen ooa [Raw 53 Gt ot -

(c) What is Phillips curve ? Draw a Phillips @
curve.
e ot e Bl @ g e 1)
(d) What are the determinants of business | —
fixed investment? 4 S oKan Gy, H;“\\
i e R e B e N
() What is liquidity trap? (j{ H)
& i

3. Answer any four of the following questions :
5x4=20

were Al PR el bifeo1e bes a2

(a) Explain the components of aggregate
demand function ?

AT BifER Fowe TolmTR 399 <1 |

Explain the effect of cut in taxes on
the level of income, using the IS-LM
curves.

oy Refee 9 PR el R s 1S-LM
@ifoas TS [ =4 |

Discuss the demand-pull theory of
inflation.

sifaat aelifte Jurife et siEma |

(b)

(c)
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Explain the relationship between
speculative demand for money and rate
of interest.

TR TR HIRA! SIi% FH T e Ao
=T <4 |

4. Answer the following questions: 10x4=40

wote Tl AT Tes e

(a) What are the conditions of equilibrium
of an eco'ﬁorny ? Discuss the short-run
equilibrium of an economy using
aggregate demand and aggregate supply
approaches. 2+8=10

TS G4 SIPITOR TOTE [ [ 2 Awfae
B1f2A1 S ol ~fS TR FR LIS 93]
ZHFFI SISl b 1 |
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(b)

Or/ 924!

Discuss the IS-LM model to determine
the equilibrium rate of interest and level
of income. State the limitations of the
IS-LM model. 7+3=10

O 29 OIS SR 9 e 1S-LM

B SIS <5 | IS-LM SfEBR Tekareg
T 1|

How is the LM curve affected by the
change in the supply of money and the
demand for money? Explain with
suitable diagram. 5+5=10

TR @9 SIS @9 Sifnis sRsTmam™ LM
@EIerE [ deite e vige e wame

R

Or/ 2!

Discuss the derivation of the IS curve
from the goods market in an open
economy with suitable diagram. 10

@47 & T TR I@T© 1S @1
(FCECE SRS 1 2 TR Siean w5y |
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()

(d)

Explain the nature of cost-push
inflation. What measures would you
suggest to control such inflation ?

. 6+4=10
Tl GO JUFFIeT agfe gt |
AR @IS e A o [ am
SISO ?

Or/ 9§24

What is inflationary gap? Explain
inflationary gap with a diagram. How
can the inflationary gap be wiped out ?

2+5+3=10

JErEied J9aR e Baw smwe qardifes
JRA YT T | T@EFIST 94 S
wieq wifF e

Discuss Keynes’s reformulation of the

‘quantity theory of money. How is it

superior to the traditional quantity
theory of money ? Explain. 6+4=10

TR AR ogq @3 FE-AamTE [{Ey
GG 41 | SF™0[IsTe JWiT AR ogeis 3
@CMCE TR 2 M 4 |
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OPTION-B

s _
or/ b of (Insurance and Risk Management )

i the cash balance approach o ‘

gi:c;jasnﬁty theory of money. How is it Paper : COM-HG-2026
: tions approach .

supstior 1o ﬂ’i?ttra&si:ry of rIrjlzney 5 1. Choose the most appropriate answer for the
%f tlkfafn ARty 6+4=10 following questions : 1x10=10

xplain.
U ~IRE TG A9 S ~FAfS S =TS Al e BoRe ewra s Bveq ¢
341 | 4| AR ©E W AEfeelE 3 (a) F)isaster Management Act was passed
, E“@«T%? T T - in the year
| | Teiel TREISHA SR el 1 7w

(i) 2002 (003 5®)
(i) 2003 (2009 Hw)
(iii) 2005 (00¢ Hw)
(iv) 2006 (300Y byw)

(b) Which of the following is an example of
systematic risk ?

I (P! eI ISR BrRel 2
- Iﬁﬂationary risk :

- SErfewe e

(i) Interest rate risk

S YT TR

4 (Sem-2/CBCS] HG 1J2 BERM/G 8 4 (Sem-2/CBCS) HG 1/2 (MAE/IRM)/G O Eeovind



(c)

(d)

(iij) Foreign exchange risk
e Rifwe =R
(iv) All of the above

@Y SOIRCHL0!

Re-insurance can be called as

SR 9 A I

(i) insurance of insurance

T T
(ij) insurance of insurers
= oo
(iii) insurance of insurance policy
Tt Tfew T
(iv) None of the above
@9[FF B8 7

Insurance agents for insurance
companies are appointed by

Tl @riiae T SfeTdin e w5

(i) central government
@EE BIE
(ii) state government

qqE) BRI
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|
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(iii) IRDAI
92 k. 8. @, iy
(iv) None of the above
8ATT GBS 7=
The head office of LICI is situated at
(i) Kolkata
JeTprl
(ii) Mumbai
RIEIE
(iii) Delhi
et
(iv) None of the above
. 8oRT Ble
IﬁQAI was established in the year
IRDAI Z*H 31 (2fee
(i) 1995 (>55¢ Bq9)
(ii) 1999 (553 5)
(iii) 2000 (k00 HAV)
(iv) 2001 (005 H©)
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(9)

(h)

1)

0)

Risk is the effect of uncertainity on
objectives. The statement is

ot tarm REEaEd SHGAoR 2o | |
o)
(i) true (¥@)

(i) false (T1%¥=)
“Fire insurance is a contract of
uberrimae fidei.” The statement is

ST GO GFE T pie |7 @2 !
(i) true (¥%7)
(i) false (J%@)

“Insurance does not play any role in
the economic development of the
country.” This statement is

“ i SIS THI (g TR (I it /

e a2, AFIO!
(i) true (¥%)
(i) false (T

“Insurance in India is governed by the
Banking Regulation Act, 1949.” The
statement 1s ,

“gigow TN Wi ®RLRR el i Y585
7l ARG =" @2 IR

(i) true (¥%)
(i) false (T1um)
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2.  Give brief answer to the following questions :

2x5=10
woTe Al epseTred by Ol frdl ¢
(a) Write two features of risk.
TR 7hr (AR i
(b) Explain the concept of insurable
interest.
iAol FILT AIREACH! HI0T 34 |
(c) Write two features of insurance.
J 7or &g fera
(d) Mention two advantages of life
insurance.

Gl TR 707 ARk Brmed 4 |

\¢) Explain the concept of insurance
ombudsman.

T TR QIFENTH! TR 5 |

following in about 200 words each :
5x4=20

weTe [l bifab! e eTORME AN {006 Wi

=g foeqe Ter fordi ¢

(a) Explain the different types of risk.

woxici [fen e I |
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(b)

(c)

(d)

What are the processes of risk
management ? Explain.

wiowea o5 afaEE & e g i)

Distinguish between insurance and re-
insurance.

N =T AR e S |

Briefly mention the advantages of
insurance to a business concern.

IRART T JRAER 3F e 1 |

Explain the main features of marine
insurance.

SR RGeS

Explain the conditions of indemnity
under a contract of insurance,

o1 R TS e ST |

Answer any four of the following questibns

in about 600 words each : 10%4=40
i o1 24 ﬁm@ Yoo
(@) What is measurement of rigk
it be measured ? Sy HST-%E?I(;
AP ﬂﬁﬂ%w%?% g
| 22 (0 sAfan
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(b)) What do you mean by assignment of
insurance policies ? Explain the
'conditions for the valid assignment of
insurance policies. 4+6=10

0 e SRS e 1 @it 2 i Afew @y
SIGTT FSHTZ IRT |

(c) Discuss the fundamental principles of
insurance.

I o1 TSTTZ SO 591 |

What are the different types of life
insurance policy ? Discuss in brief.

%WW%W%%?W
ST 4 | ' :

Discuss the role of Insurance
Regulatory and Development Authority
(IRDAI)_ as per the IRDAI Act, 19909,

SoRd WWWWWW&F@%
oz e (IRDAI Act, 1999) ey i
I O T ST SRR Sicatsa; 3|

() Discuss the origin and development of
insurance in India.

ireEs T Gesife ol TR R Sisal
79 |
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(g9 Explain the term ‘malpractice’ with
reference to insurance industry. Give
suitable examples in this regard.

A TR Tire wite Seiml wwoR we
G 9| G Ao Coge Trid |

(h) What is negligence? Explain the
elements of negligence in regard to

insurance. 4+6=10
“NEFre w2 TN e GRS aiEefes
%‘PTTWTW W aﬁ’“ ey o iii
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